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General Instructions :
(1) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iti)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to
these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three

marks, 2 questions of four marks, 1 question of five marks and 1 question
of six marks. You have to attempt only one of the choices in such questions.
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SECTION A

1. Torelt ot ®r FI ywEQl Ju FIEAU @1 G o U TEeEE i faftm
TG GTEHT <hl ATIIAhT Bidl & | Tohegl & & 19 &qmsu | 1

Various input resources are required by management to complete a task

effectively and efficiently. Name any two.

2. ‘gued = uftyifva HifSw | 1
AU
“STaTor T o= 379 B 2 1

Define ‘Organising’.
OR

What is meant by ‘Delegation’ ?

3. o} SaoEes B %d B8 & U T foshl semT R oY hHMT =Edl
2 | gfl Jaruh SHR W ¢@d 3§ | 9 I ] IrEdfdehdl H Sea o U
TeYhl 1 WIS % SR H He, sArediie wfasaeamol s qur |ed wiftd %
o = afem e geat R |
ITYFd Ul Ja-9 o Teh 1A ol Af0d il & | $H S sl TgAM hiforg qe
38 gy i | 1

All business firms would like to increase their sales and earn profits to be

successful. All managers dream of these. To turn their dreams into
reality, managers need to work hard in thinking about the future, in
making business predictions and achieving targets.

The above lines describe one of the functions of management. Identify
and define this function.

3 P.T.O.
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YT
‘1o o STMER W SNT=ieh TN Td FHT=TES TN H 3Ta¥g i |
Differentiate between ‘Democratic’ and ‘Laissez-faire’ style of leadership.

OR

Differentiate = between ‘Formal Communication and ‘Informal
Communication’ on the basis of ‘Meaning’.

5. RO TG Ueh I hi Si TTEET I hE THITd i 8 2
arera
AT I AT Teh 3T hl oI HEAT Dl hd JHTfId HIAT B 2

How does ‘Cost of Debt’ affect the capital structure of an enterprise ?

OR

How does ‘Cost of Equity’ affect the capital structure of an enterprise ?

6. ‘THE T fafee’ T 10 HUS I AfHhd ST & TF USiehd & | FHEG hl T&a
STt T 6 HUS B | IO o h HH A S @ oAt | HEOR S TR T T 100
Y o 1,00,000 THAT 3T o6 FHHA G g9 TG HE w1 FoE o
i ol STfigT &1 TR | $Eeh e, I8 WA B3 Tk U O ardiosh
JTTIHAT | 3TMeH o |

39 JGYUN shl g <hIfGT a1 38 qRTivg hifvre S8 st =61 wenid
w1 i od 999 =l g s /A8 W@ T

XY Ltd. is registered with an authorised capital of ¥ 10 crore. The
paid-up capital of the company is ¥ 6 crore. The company was facing
shortage of funds. The management of the company decided to raise
funds by issue of 1,00,000 equity shares of ¥ 100 each. The issue was
fully subscribed. After this it was realised that the funds raised were in
excess of the actual requirement.

Identify and define the concept which was not considered by the company
before deciding the amount of funds to be raised.
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7. oo 9 gAY ATIHEECE W Uh o5, 39 foiflgd TR & @19 @l fo afe
HTIRIHAT g3 Al ©: WIE A% 5,000 T 31 g 7 T doh, S Wt 98t B,
TSk hl HUHAd oh & ST 319eT 3§ dcd fedn Sum | & °18 § 400 forY <hi
U T HH % IRET TMEh 6 TR A HM w1 9g R (@ | faow w6l
foshar & T o T e 3ueh! Rreerd g @ A R fean | ag ym b ot R
F A |

faas + gome dfw f sdwa fufa 4 o' v sifteid &1 wm @
Ghal B | 1

Vivek purchased a bike from Sarnath Automobiles with a written
guarantee to repair or replace, if necessary, within six months or
5,000 kms of distance travelled whichever is earlier. After covering the
distance of 400 kms in two months, the gears of the bike started giving
problems. Vivek took the bike to the dealer who refused to listen to his
complaint. He was confused about what he should do.

Suggest the rights that Vivek may exercise in the above case.

8. ‘T uihw sfaute fefies’ scaffhcds & fou ws fgdia asr dohdls
A IYH ST W 7 | TeArafehedenl gRI 38 IUHLU HT FAN hadl IUTe
Tf¥reTer < =Te & foRar S Tehat 8 | T8 9k R 3Heh W@ & fou ot foafirse
AN & ATIEIH bl AIThAT & | b BN, 3K H IFANT HifHd
STl & foran 51 @1 8 | FE) 3ushtor <kl frshl seEn =mEd ® |

Y I o AT W HROT ¢d L HFE] G TN H A I Tt Fq€ qlieh
1 ggira i | 1

‘Nayan Medicare Equipment Ltd.” manufactures equipment for surgeons

having a unique laser technique. The equipment can be used by the
surgeons only after proper training. Even their maintenance requires
guidance of specialised engineers. Because of this, the equipment is used
in a limited number of hospitals. The company wants to increase the sale
of the equipment.

Suggest the promotion tool to be used by the company giving reason in
support of your answer.

5 P.T.O.
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SECTION B
9. ey & TR ®rd i fohedl o Himnedt s TmesT |
HAYAT
RIS o W o foheal A4 fogall i TSy |
Explain any three limitations of ‘Planning’ function of management.

OR
Explain any three points of importance of ‘Planning’.

10. SieA (Hepe) farg fmor’ qen “stverg g yeer’ =i wweAsy |
AUAT
‘o gfssar o “Foarea aeent <1 Trgior qen ‘aredfaes fasare <6 a9’ =7on
S THIATST |
Explain ‘critical point control’ and ‘management by exception’.
OR

Explain ‘setting performance standards’ and ‘measurement of actual
performance’ as steps of ‘controlling process’.

11. T3 3 37 €1 0 Tk 9 HIHd & TA.5.8). dod 991 dTelt e 3 | ™
ST IR foram 2 | 39 319 Ui i v L @ 3 | 1 ALl hl gt
AT GETEHT o ITfRelad SHT 1 T Hd b (oY T8 3¢ AW a1 B |
T YU T S S T a8 HHATNE B IUIE HE-W-AIeer ft yge
3 | 98 3 g faswifea et w1 faveiwor off otar ® ef 3% wfagfse off 2o
7 |
o g fromfea rd =l fdem & wh qgwqul gesw & w9 # aftig femar s
Tehal g | SH Uceh 1 ATH FA1ST AT ITYad H TehINIG hl oh (e 37d
g feafea fopT ST depd ATl 31 3T SR T Seei@ hHIT |

Shiv has recently joined an industrial unit manufacturing low cost LED
bulbs. He has five workers working under him. He gives them
instructions to ensure optimum utilization of resources and achievement
of work targets. He provides good on-the-job training to the workers to
build an efficient team. He also analyses the work performed by them
and gives feedback.

The work performed by Shiv may be described as an important element
of directing. Name the element and state two other functions which may
be performed by Shiv in addition to those highlighted above.
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12.

13.

‘ot TSI BT fiehtor 38 <IUR fohu ST aret faxier St <ht gitdererdat &
IMYR W fRam Sam 8 ) 39 IR 1 AW Sase ad s 9y ¥ sifees
qRgerIdr 9T YIS T AR fohaT STdT 8 | 39 TR <Al fopeal @ forrsanedt 1
oo ot Fifse |

‘Financial markets are classified on the basis of the maturity of financial
instruments traded in them.” Name the market in which the instruments
with more than one year maturity are traded. Also state any two features
of this market.

T, Higd qem ¥m o fig § 9o ueh Sfenfie & o Iehl STer-oTen @y
fafmtor serrgat € 1 9 R ufed qen $uFer & dur 1o Sedten nfafaf
1 e FAEE i ST ufdrieat w1 fafg otk wd & | 9 Tt o
T = AT T ITAM LA @ AAT AohIhd ThATHT 1 I Hd @ | o 3T
ISl Wl W FHaRor teh 3faa - o steard id § | 9eg o aeft @eft
ATl gRT g3l o IcUTeT § TUHTE U Afod saagRi o |fean T st
FEqE, Tehell AT GNqUl TEgeT & fovw # faf<a 2 | ora:, 3= henfie &=
& T IUICH & 1Y A Th Gired s F 1 vl fogn e st
igam & 9o S W FEET § G & | g TS oEHH, INUhdl T4
sfea i fohad wE Al fasharett &1 Ufaarg 0 a3 favg
FHRIAE B % T JuHTearsti ol Teartad s |

Ioderd g T o AR 38 WA g1 fAsaried fopy 9 atet fepesl
A HRT H1 Ioo@ HIWT |

Gopal, Mohan and Shyam are three friends having their separate small
manufacturing units in an industrial estate. They are hard-working and
honest and undertake their respective production activities following the
good practices of business. They use good quality raw materials and
adopt standardised process. They fix the prices of their products with a
reasonable profit margin. But all of them are worried about the
malpractices like manufacturing sub-standard, duplicate, and defective
goods by the fellow manufacturers. Therefore, they decided to form an
organisation with a constitution of its own which is free from government
interference. This organisation would encourage consumers to strongly
protest and take action against unscrupulous, exploitative and unfair
trade practices of sellers.

State three other functions which may be performed by this organisation
in addition to those mentioned above.

7 P.T.O.
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SECTION C

14. ‘W9 I GRATNG KT | To-o T Tgtram fsham 8 8, |weisy |
reran

‘SHaETteh TEr H A SN | STEETReh qHiat S fhegl e fasmvarsT
! THHATST |
Define ‘Management’. Explain how management is a multidimensional
activity.

OR

Give the meaning of ‘Business Environment’. Explain any three features
of Business Environment.

15. e % & e st § ueh yed et 3w for 91 i Steweesar B, 98 @
‘forg T W Tofa o Sia & 27 ford) dvreq # faole o9 o1 stfver 9 =
Toh o ST ST Hehal & AT I8 I TRIT Ya-9 o UH &l Thal & | Wg I8
‘Sreran R (I F A1 A1)’ Irell raERen & 7 |
IS IS TS ATHR T SeaAd H dedl 8, d Ul o & Uil = 7=
i T |IEM H 6l TG Bl 7 | I8 SEIY BT & FAl(h g TSl § gl
FHer fa fiehe @+l gurem § fuw B9 & 98 3% @ Wy ° =9
Taeee O HEl A [H BT @ |
Ifad B Hied i I U HETUl AR H1 AU fRAT TR B | STaEmOn

! TEAIHT 3R $HH WEw o fohedl i fogatl o Seoi@ HIfT |

One of the questions that needs to be answered in the organizing function
is ‘At what level are decisions made’ ? Decision making authority in an
organization can be pushed down to the lower levels or it may lie with the
top management. However it is not an ‘either or’ concept.

When an organization grows in size or complexity, there is a tendency
towards sharing decision making authority with the lower levels. This is
because in large organizations, employees who are closely involved with
certain operations tend to have more knowledge about them than the top
management.

An important concept of organizing function is discussed above. Identify
the concept and state any three points of its importance.
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16. TS % YFIHT HE & HEw o fohral IR (g3l I Ieaid HIT | 4
3t
FHraTiEt @ fore fdreror & fohedl am eyl 1 Seoi@ I | 4

State any four points of importance of staffing function of management.

OR

State any four benefits of training to employees.

17. 7O 3Tehal Al i [Hfsha (48 @ arel) Sfiaq it & s’ | faf=aa o |
e &% o4 T R o 37ht Fiear sedlt s @ 7 wifer fifia s seefa @
Td b HIATAT § h1H HA <hl T HLdl 8 | 37q:, 394 Beel 30T Uise 9™ o
UTgehl ol TIELIGHH @H o fdeohcd TS Hd o U Teh & TRH HiA
o foren | FRIS w@ wiTed I Sl G0 i o 91g 3§ e SR qgi i
TgaH i {8 9@ hl eI off, IW H TS, GEIHR, a AE,
TR H 9IS WE % [T 3 a1 ¥ W HISH 989 & [ a1 T |
35 I8 Tofa o fop Saep fuan, or, T o 9= Yaeaeh 81 | 32 3o
qarsti & 9ed Ufd 418 T 50,000 feU ST | 39 fUar 7 3T +ar o 98 37
e, W, A aEHR g MA@ g s fdu Ui sv I 7 |
T $H TS % T AR B T | $HH U8, Y9 R Q¥ S gladl 3kl 8
fafir el ol STHIA HHAT TGH i I FGE™ A1 | Y9 A MO F A
&t foh 98 QU IEER I W@ =TEd @ | T 3 9% dey &R o
3R 30 WIS WE & fou ufe g 3 & foaw w1 | g dwt i Tgfm &
foIT Torw 7 U Ufg Bied YeuR HEAH O ey LMfud fRar TR 98 T
I YeM fehU 7T AT | HYSe o |

() <9 I=sq ¥ el Igyd Fd gy, faftm % uqf w1 v & fae
TMOST ST ST H ATE T 9T ok 2 Gidi okl THSST |

(@) @y & Iugaa et o =i yerg & &Rl 1 31 T | 4

Ganesh was concerned about the sedentary lifestyle people are leading
nowadays. Their dependency on outside food is also increasing because
corporate work culture demands working till late night at offices. So, he
decided to start a restaurant, ‘Healthy Eating Point’ to provide healthy
food options to customers. After completing planning and organising

66/5/1] 9 P.T.0.
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functions, he identified the various job positions that are required to be
filled i.e. a General Manager, an Accountant, two Chefs, two boys for
serving the food in the restaurant and three boys for home delivery of
food. He decided that his father, Karan, would be the General Manager of
the restaurant. He would be paid ¥ 50,000 per month for his services. His
father requested him to appoint his friend’s son, Prem, as an accountant
who is well qualified for this post. Ganesh agreed to this proposal.
Earlier, Prem had a business of providing unskilled workers to different
organisations from remote areas of the country. Prem took permission
from Ganesh to continue with the old business. Ganesh happily agreed
and asked him to provide five boys for serving and delivering the food.
For the appointment of the two Chefs, Ganesh approached a renowned
Hotel Management Institute and was satisfied with the Chefs provided
by the institute.

(a)  Quoting the lines from the above paragraph, explain the two
sources of recruitment being used by Ganesh for filling up the
various job positions.

(b)  Also, give the meaning of the function of management discussed in
the above case.

18. TRR $i¥ AIAYH Rem 918 & AT T el & Ush [oemed § HIaehil
TS et o &9 4 SE & | Th o 98 e H Yol 9N < fovg 4 qg
W@ ¥ | IR HET Bl FAT b SHAT hl Sl g5 WRTIGHT o SHROT HRAR GSiT
TR 5 1980 % TXh H ATUSHH ghg <@l | Fowmeni i digar § e
SHEEIT U ST9R YSeRtor o TIear o el weafE, g, Aee s, Ham
R a1 Wiaqfd SR § @ffad o= @ 9 At geR % ety
(EER) A ARH L T | 39 AR =R q1 AqUdi § FHawrehi o fagame
HI qrg S qn Faseni St Reeed 9¢ T8 | gv 7q foeme 3fua s
T o 319 H YR LR 99T I TR Hawren! sl gaensti o Haer o
AR 9 | 35! SH H T@d 8T WA SR A Teh e fepr wfid s

ol form |
(%) 39 s e &1 am aqse S Tadar &1 vl awa R g
o |

(@) 3w (%) ¥ vgae MU femes e & foredl d 3evat 1 Soorg ot
I |
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Nayar is working as a P.G.T. Commerce in a CBSE affiliated school of
Kerala. One day he was teaching about capital market in the class. He
informed the class that during 1980’s the capital market in India
witnessed a tremendous growth because of increasing participation of the
public. This ever increasing investors’ population and market
capitalisation led to a variety of malpractices on the part of the
companies, brokers, merchant bankers, investment consultants and
others involved in the securities market. These malpractices and unfair
trading practices eroded investors’ confidence and multiplied investors’
grievances. The Government of India and the stock exchanges were
helpless in redressing the investors’ problems because of lack of proper
penalty provisions in the existing legislation. In view of this the
Government of India decided to set up a regulatory body.

(a) Name the regulatory body which the Government of India decided

to set up.

(b)  Also state any three objectives of the regulatory body identified in
part (a) above.

S T At fgad Hrot o e Hhierl el % €9 H HRNd & | B
YT G HIE hl Tk Tree fgam Hrot & T & & 23 | 59 &1 i,
rfl, S HEifeRTerd § U SaaHe Aere %1 ek 7, oud i % any
Foau’ a16 W ==l R T A1 | g S @ fouue foRE o gwifed A
Rl W T =@l A1 | 54 o FHern foh fowum foie 6 sga 8w
yifed i §, 3= gEda: 4 9 § 9 S Tehdl 8 : () Freeie o w@
(ii) TR-FEeefie T |

S 3 o ggmn fob e aw@ fauvm @3 99 S § e fauom d aweran
T i o foTe faque gereres et €9 9 Fa%9 IgH & 7 |

39 fauve o3 gyg i vgaT vd gHenst N fauve yergent g R ' 9
oy T S ehdr 7 |

Jay is working as the Chief Executive Officer of a soft drinks company.
The company is doing its business in collaboration with a soft drinks
company of France. Jay’s friend, Swami, a teacher of Business Studies in
a reputed college was discussing the ‘Marketing’ chapter with his
students. He wanted clarity from Jay about the factors which affect the
marketing decisions. Jay explained that there were a large number of
factors affecting marketing decisions which may be divided into two
categories : (i) controllable factors, and (ii) non-controllable factors.

Jay further explained that controllable factors became marketing tools
that can be constantly shaped and reshaped by marketing managers, to
achieve marketing success.

Identify and explain the set of marketing tools that can be constantly
shaped and reshaped by marketing managers.
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20. AT Yoy 1 A B TE Y W I§ T Toh 39 AfHRT B FA AT ARG B
R I8 <@ foh o 30 HIUss U9 fhmdt &1 @ | SR 3 A1 Y5 6
fogral = v | @1 & fou fofie et faerfia i iR duem ©ia s
H, &l 98 H HA A, IGhHdT Bl I AT F¢H H THA g3 | fafvE
Aehienl o Uoh debdleh Fgad fohu S aTel shefeidl <61 g fuifa s #;
IUIFT YTk AT STt & T 5 AN bl (o it 8 | Th 3T dohrilh
39 HUATET hl U5 Ll & S Uk feq & 3 w1 1 fvurea/sr 3 i
3CATEH A o AT g AT AT 8GR0 W NI 7 Foh HRIperdr Ja-gehi wd
fHehl QM1 o TIFd T T THUMH 3 |

3UYH =g § Uladl 3gYd i U AT Ta=H 1 QI qehishl ol TGETT
Td §HATRT |

‘Scientific Management means knowing exactly what you want men to do
and seeing that they do it in the best and the cheapest way.” Taylor
developed various techniques for application of Scientific Management
principles and was able to achieve a three-fold increase in productivity in
Bethlehem Steel Company, where he worked. One of the techniques helps
to determine the number of workers to be employed; frame suitable
incentive schemes and determine labour costs. Another technique
recognises those workers who are able to accomplish/exceed the fair day’s
work and is based on the premise that efficiency is the result of the joint
efforts of the managers and the workers.

Quoting the lines from the above paragraph, identify and explain the two
techniques of Scientific Management.

21. e A fafies fafim g & anfuifsoes arei & fmiar 2 | fuss ad & e
goeh! foshl @1 €t g wuQ oft | =me] 9y # wE A fshl 1 20% € SeW w6
faut form B | U foTu otiafies e smer aTehetur fohu U § | STidfeR 3Tehetur
& HIEIH 9 32 gadE & gt faum hl aherdrett we wEeiiEl o fagayo
foRaT | SITEI 3TeheTuT hl Shrg-foirg TR SIgeTd BU TR o H3Taer T8 &k ¥ |
31, SAFHIRH TAE H &F H T@d §U Th foqd AT dIR 1 T qe
AT BT AT B b (I ATEYIS TETEHT hi MEfed foham T | HEET A
TFQUl ¥ < 79 HEATAAl H AT HT qeH B b Hew feu | fasht # R
gfg & I & T g9Eql Aeet H faefia e h s
yfagdr 3 fisd T ewres § 39 R faed o1 steaeq fomam @ |

ITFd At ASHT G ThRI sl TEATHT Td FHEST, |
66/5/1 12
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Matta Auto Ltd. is manufacturing different types of commercial vehicles.
Their sales were rupees two hundred crores in the previous year. The
company decided to increase sales by 20% during the current year. It
conducted internal as well as external audits for the same. Through
internal audit, they analysed the strengths and weaknesses of the
business across all departments. External audit focused on the
opportunities and the threats in the constantly changing business
environment. Thus, a comprehensive plan was prepared taking into
consideration the business environment and the necessary resources
were allocated to achieve the target. The company directed its offices
throughout the country to follow the plan. The company’s commitment to
develop effective plans to achieve a consistent increase in sales has
ensured its continual growth over the past one decade.

Identify and explain the two types of plans discussed above.

22. YoYU % TGRM R o HE % foheal g [o=g3tl ! GHIATST | 5
AAAT
Torgl uta TR-fofiar STfiSRent 1 TH=ET | 5

Explain any five points of importance of ‘directing’” function of
management.

OR

Explain any five non-financial incentives.

Qs q
SECTION E
23. AT <l Tohgl IR foiwdreti =l g9=msy | 6
AT
wa-y & fagidl 1 Tl W Tt S aret fohegl wr fogatt ot TSy | 6
Explain any four characteristics of coordination.
OR

Explain any four points highlighting the nature of principles of
management.

66/5/1] 13 P.T.0.
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24.

faamfor ‘oo sfen foifies’ e e Fmivht v fafas s 1 Sames
Yeeeh 2 | 99 2017 — 2018 o G, HFIT 3794 3T AL ol ITSd ol oht
Tehl | AT o G&T HRBR SR = fomivmi 61 s Afffd S8 S SR
1 AT A Hoh R 9fasy H IcUTeT AL hl T hid o T 3104 G ¢
b | ST A IcqTed graell fepiel o1 favamor fopam 3ty for =@t e
% SR GEETC off | “Aea stean fafies’ & Fem 95d & aed 9 91 9 e
Tfihd JEe gRI € WY W S od o f5e@ w7 3 Bt oft | et %
980 © Teegehl &R ¥, frdes afommeesy g ol Bt off 3R ITRIg I
geaTand aral ot |

Y & 3cUTed Yegeh, fa=amMior, UH ITaTsl W1 YA hiar o7 foh 3Hd
HATUHRIG: AT % FAWE] I 38 dgad! off | fomamiir SR HHarl qHi
Q%%ﬁéﬁrﬁm?ﬂ:@@ﬁﬁ 3A: Th-gEL o HTNI i I8k A &I H Tl
HHd |

(%) I afea TEITOl STETT ® YR ! UgaTHT Td 3T 319 i |

(@) wﬁaﬂﬁm 3gYd U Y, WA (F) H 989 ¢ Yk YhR
AT & TEINY STl 1 Joor@ hifere, fdes wRer Tea gfe
%ﬁé@@ﬁma@aﬁwﬁwa«iﬁl

(M) U@ Rl 3 gEmEl 1 Seoig shifvT W1 @il g wEmer <l gwilerskdr

! gard % fore g o & |

Chintamani is the Production Manager of ‘Global India Ltd.’

manufacturing and exporting steel. During the year 2017 — 18, the

company could not meet its production targets. The Chief Executive

Officer of the company constituted a committee of experts to find out the

reasons and give its recommendation so that the production target could

be met in the future. The company analysed the production related
records and found out that there were problems due to communication.

‘Global India Ltd.” had rigid rules and would insist on communication

through prescribed channels, which led to delays. The company also had

a number of managerial levels causing further delay and distorted

communication.

Moreover, the Production Manager, Chintamani, was using a tone that

quite often offended the sentiments of the workers. Also, Chintamani and

the workers did not believe in each other and so could not understand
each other’s messages in the original sense.

(a) Identify and give the meaning of the types of communication
barriers discussed above.

(b)  Quoting lines from the above, state two communication barriers
under each of the types identified in part (a) because of which
‘Global India Ltd.” could not meet its production targets.

(c) State any two recommendations that might have been given by the
committee to improve communication effectiveness.
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25.

‘TN R A 46 W % aF & A1 EIa: s, fooolt @ g0 §
YA TEGSTT hl Teh STV H@T g | 39 1987 H W= o1 g IRw foran
T AT | $HehT Hre, ool U9 gU W U ST SR Y 7 | TR % gIHaEd
! q@d g¢ 394 g foia foran fob o ot ® U 98 wmEn @i | 30 Ag ot
o o1 2 fob 98 -8 ¢ gl | frow R a@ifes a7 o ekt & fow
IHTH GUTTI el I L Heh | Teh IR e O] ol I ToRaTd &1 ST
Top o8 27fereh 3T Tg AW 39T R Hehd! B, d1 30 I8 iy oft o1 B foh 5@
GIRISHT o foT iy gl @ gTea fohu Srdn | foxf Jeweeh, S7dd 1 el =
o6 a8 9T & Tl ®iY 9Td & 7g [y @it o s g9mEeel agad
T Tk Tk AJhAdH Yol @il hl ITd ol ST Heh SR Soramiai <l
GTEYET I TG ST Heh | AT A HEAH hl Tehg a8 el =1 qeaied
% v fa & fafim @@l & ara &1 qoaied fea 9o g% Ed 9
Trf-ad SRaH Td Y ThA i Sl AT Sl gaT i |

(%) T fuf & wfia 3 e Fobi 1 seore Hfw |

(@) s fuia il garfad o aret T foredl Q1-g =eehl 1 uesy o9 W
aneft oft ford Serush B SR ST R |

‘Monisha Consumer Goods’ is a leading consumer goods chain with a
network of 46 stores primarily across Mumbai, Delhi and Pune. It was
started by Monisha Gupta in 1987. It has a large market share in
Mumbai, Delhi and Pune. Looking for an opportunity to expand, it has
decided to open a new branch in Kerala. It has to decide on what new
resources it will invest in so that it is able to earn the highest possible
return for its investors. Once the company believes that it will be able to
generate higher revenues and profits, it also has to decide on how this
project will get funded. The finance manager, Atul was told to have an
optimal capital structure by striking a balance between various sources of
getting the project funded so as to increase shareholders’ wealth. Atul,
after assessing the cash flow position of the company, evaluated the cost
of different sources of finance and compared the risk associated with each
source as well as the cost of raising funds.

(a) State the two financial decisions discussed in the above situation.

(b)  Explain any two factors affecting each of the decisions that still
have to be considered by the finance manager.
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